FÖRM B10 (Official Form 10) (4/01)

United States Bankruptcy Court	DISTRICT OF N. Illinois	
Name of Debtor KMART Corporation	Case Number # 02 B 02474	
Name of Creditor (The person or other entity to whom the debtor owes money or property): Gobosh, Inc., formerly known as Central Design Systems, Inc.  Name and address where notices should be sent:	Check box if you are aware that anyone else has filed a proof of claim relating to your claim. Attach copy of statement giving particulars.  KX Check box if you have never received any notices from the	
Gobosh, Inc. 2520 Junction Ave. San Jose, CA 95134 Telephone number: (408) 383-9597	bankruptcy court in this case.  Check box if the address differs from the address on the envelope sent to you by the court.	Tura Sauga va ana Coura Han Oran
Account or other number by which creditor identifies debtor: Blue1\$02	Check here if this claim □ replaces □ a previously □ amends	THIS SPACE IS FOR COURT USE ONLY  filed claim, dated:
1. Basis for Claim  XX Goods sold  □ Services performed  □ Money loaned  □ Personal injury/wrongful death	□ Retiree benefits as defined i □ Wages, salaries, and comp Your SS #: Unpaid compensation for	ensation (fill out below)
☐ Taxes ☐ Other ———	from(date)	to(date)
2. Date debt was incurred: 08/15/00 & 09/07/00	3. If court judgment, date ob	tained:
<ul> <li>4. Total Amount of Claim at Time Case Filed:         If all or part of your claim is secured or entitled to priority, al         Check this box if claim includes interest or other charges in add of all interest or additional charges.     </li> </ul>		im. Attach itemized statement
5. Secured Claim.  Check this box if your claim is secured by collateral (including a right of setoff).  Brief Description of Collateral:  Real Estate		ecured priority claim
Value of Collateral: \$  Amount of arrearage and other charges at time case filed included in secured claim, if any: \$	☐ Contributions to an employee benef ☐ Up to \$2,100* of deposits toward pu services for personal, family, or hou	urchase, lease, or rental of property or schold use - 11 U.S.C. § 507(a)(6).  wed to a spouse, former spouse, or child - mental units - 11 U.S.C. § 507(a)(8).  th of 11 U.S.C. § 507(a)().
7. Credits: The amount of all payments on this claim	respect to cases commenced on or a has been credited and	
deducted for the purpose of making this proof of cla  8. Supporting Documents: Attach copies of supportine promissory notes, purchase orders, invoices, itemized accounts, contracts, court judgments, mortgages, second perfection of lien. DO NOT SEND ORIGINAL E are not available, explain. If the documents are volu	707	
<ol> <li>Date-Stamped Copy: To receive an acknowledgment enclose a stamped, self-addressed envelope and copy</li> </ol>	ent of the filing of your claim, of this proof of claim.	
Date Sign and print the name and title, if any, of the cre this claim (attach copy of power of attorney, if any 03/13/02	<i>'</i> ):	υλλαλιση ογ
	oug Ives, Accts Receivab	re,3/2/3///2 mi



2560 Junction Ave., San Jose, CA 95134 Ph. 408-327-9800 Fax 408-327-9810 info@gobosh.cc

\$ 0 L D T 0	BLUELIGHT.COM 145 JEFFERSON STREET SUITE 100 SAN FRANCISCO, CA 94133	BLUEL\$02
BILL TO	BLUELIGHT.COM 145 JEFFERSON STREET SUITE 100 SAN FRANCISCO CA 94133	BLUEL\$02

	INVOICE	
Date	Number	Page
09/07/2000	68420	1

Type: SO INVOICE

Cust PO: 3379

Sales Order ID: 023364 Confirm To: JOHN LORAN Attention: JON LORAN

Reference: 22964 ETA 9/5

Sales Rep: JJ OE: JRL Region: NCA Class: N

Bill	To	Phone I	lo. I	Bill To	Fax No.		Res	ale Numi	ber				
415-2	77	-0100		and and the state of the state	to annot account to error up alabata frauera	occusar or refused plantación	Contract the distribution of the contract of t	and the state of t	endostation of ends Center	Line Eller Almei Len Con Straff Francisc	Shirt Medic (Shirt service)	1111-1-1111-1111-1111-111-111-111-11	
Ship	۷i.	а	F08			Frei	ght T	erms	Tern	IS .			
Buyer	' ຣ	Carrie	- Committee of the control of the co	- and the second same and the second second second second	1986年6月 6 人名英格兰 在在社工的经验的证据的证据	PPD	& ADD	AND	NET	30	9477 C. CAN SAN SAN SAN SAN SAN SAN SAN SAN SAN S	- Park Art Art Carter Color	ARTON CONTRACTOR OF THE

Line Description Part ID Customer Part ID	UM Date	Order Oty Ship Oty	Unit Price Extension	Disc Tax
1 SUN 36G (2 X 18G) 10K STOREDGE SG-XDSK020C-36G	EA 09/07/2000	2	3393.00 6786.00	т
2 POWER CORD X311L	EA 09/07/2000	2	0.00 0.00	т
3 FREIGHT CHARGE	LT 09/07/2000	1	0.00 30.00	N

\*\*\*\*\*\*\*\*\*\*

THIS ORDER IS SUBJECT TO SELLER'S STANDARD TERMS AND CONDITIONS OF SALE. All returns are subject to a 15% restocking fee. JJ

Inv Subtotal	Inv Disc Amt
6786.00	

Received: 8/23/00 4:08PM;

Aug-23-2000 04:52pm From-BLUELIGHT.COM



Bluelight.com, LLC 150 Post Street, Suite 670 San Francisco, CA 94108 Ph.: (415) 277-0100 x 219 Fax: (415) 989-1995 4159891995

T-183 P.004/007 F-877

FUICHTASE ORDER NO. REVISION PAGE
3379 0

145 Jeffersn Suite 100 San Francisco CA 94133

SHIFTO

150 Post Skreet

Suite 670

San Francisco CA 94108

United States

VENDOR:

Central Design Systems Inc. 2560 Junction Ave San Jose, CA 95134 United States 150 Post Afreet
Suite 5/0
San Francisco, CA 94108
United States

• • •	30 Trinms	Requestor/DRIV Loran, Jo	n i i i i i i i i i i i i i i i i i i i			408) 327-9800
1	PART NUMBER - DESCRIPTION	DELIVERY DATE		וואט	UNIT PRICE	EXTENSION
1	Your #: SG XDSK020C-36G 36.4 Gbyte (2x 18 GB) 10k Storage		2.00	Each	3393 INV*	•
	Your #: X5237A 18GB Internal Drive		8.00	Each	1305	10,440.00
	Your #: X311L Power cord		2.00	Each	0	0.00
	100 100 100 100 100 100 100 100 100 100	\$60	glanfra	plus!	9,00	
•	6 C C C C 23 2000		4510 En II	PLEN	JURE OF	Konno 21 Ho Pac 8
					Total	



2560 Junction Ave., San Jose, CA 95134 Ph. 408-327-9800 Fax 408-327-9810 info@gobosh.cc

8040 TO	BLUELIGHT.COM 145 JEFFERSON STREET SUITE 100 SAN FRANCISCO, CA 94133	BLUEL\$02
B I L L T	BLUELIGHT.COM 145 JEFFERSON STREET SUITE 100 SAN FRANCISCO CA 94133	BLUEL\$02

	INVOICE	
Date	Number	Page
08/15/2000	67839	1

Type: SO INVOICE

Cust PO: ENGO807B

Sales Order ID: 023092 Confirm To: JOHN LORAN Attention: MIMECOM

Reference: 22724

Sales Rep: JJ OE: JL Region: NCA Class: N

97,57	Bill To 415-277-	Phone No. -0100	8111 T	o Fax No	•	Resale	Number		
13-954	Ship Via Seller's	a s Option	FOB Shipping	Point	Freig	ht Term ADD	하는데 이번에 그리고 있다면 하는데 하는데	rms T 30	

Line Description Part ID Customer Part ID	UM Date	Order Qty Ship Qty	Unit Price Extension	Disc Tax
1 UG E2-E420R/2-450MHZ/2GB/2-18GB U14A33ULD29S-002 A33ULD2-9S-002EJ	EA 08/15/2000	2	26095.00 52190.00	Т
2 FREIGHT CHARGE	LT 08/15/2000	1	0.00 50.00	N

Shipped To: GLOBA003

GLOBAL CENTER

1245 BORREGAS AVENUE ATTN: BLUELIGHT/MIMECOM

SUNNYVALE, CA

94089-1308

Inv Subtotal Inv Disc Amt Inv Tax Amt Freight Invoice Total 52190.00 4436.15 50.00 56676.15



2560 Junction Ave., San Jose, CA 95134 Ph. 408-327-9800<sup>t</sup> Fax 408-327-9810 info@gobosh.cc

08/15/2000 023092

BLUELIGHT.COM

Customer PO TD: ENG08076

Attention: MIMECOM

Confirm To: JUHN LORAN

GLOBAL CENTER

1245 BORREGAS AVENUE ATTN: BLUELIGHT/MIMECOM SUNNYVALE CA 94089-1308 Order Date: 08/08/2000

Reference: 22724

KENIN WE

BLUEL\$02

GLOBA003

1 SINVER E250

SERNSUN SERVICE SILVER E250

EA 08/08/2000

\*REPRINT#

2 UG E2-E420R/2-450MHZ/2GB/2-18GB

/1MA3BULD29S-002 A33ULD2-9S-002EJ

EA 08/08/2000

3 ENTERPRISE 250 SERVER

A26-UJC2-95-001E

EH 08/08/2000

\*REPRINT\*

4 INT DISK 18.2GB/LOK ULTRA SCSI DISK

X5237A %

EA 08/08/2000

\*REPRINT\*

SIGUAD FASTETHERNET POI ADAPTER

X1034A

EA

6 256MB MEMORY ULTRA

X7004A

08/08/2000

EA

08/08/2000



2560 Junction Ave., San Jose, CA 95134 Ph. 408-327-9800 Fax 408-327-9810 info@gobosh.cc

BLUELIGHT, COM

BLUEL \$02

Customer PO ID: ENGOSO78

Attention: MIMECOM

GLOBAL CENTER

1245 BORREGAS AVENUE ATTN: BLUELIGHT/MIMECOM

SUNNYVALE CA 94089-1308

GLOBACO3

08/15/2000 023092 Confirm To: JUHN LORAN

Order Date: 08/08/2000

Reference: 22724

Birde/Reitlekt

7 SILVER 420R SER-SUN SERVICE

SILVER 420R

EA 08/08/2000

\*REPRINT\*

\*

FORMERLY KNOWN AS CENTRAL DESIGN

SYSTEMS. INC.

RECEIVED

DATE:

\*\*\*\*\*\*\*\*\*\*\*\*\*\*\*\*\*

THIS ORDER IS SUBJECT TO SELLER'S STANDARD TERMS AND

CONDITIONS OF SALE.

All returns are subject to a

15% restocking fee.

3BOXES

Received: 8/ 8/00 10:03AM;

07/27/2000 17:28

4156460078 -> Central Design Sys.; Page 4

4156460078

MIMECOM

PAGE 04



## Purchase Order #Eng0807B

Order Date:	08/07/00	Project or Dept Name:	Eng.
Vendor:	Central Design System	Project or Dept#:	
Address:		Quote 072400-1	
		•	

, Askel

Item #	Déscription	QTY	Unit Price	<b>Total Price</b>
Sun Silver	Sun Silver Service E250	4	2515.00	10060.00
A33ULD2-95- 002E y	420R	2	26095.00	52190.00
A26-UDC2-95- √	£250	4	14933.00	59732.00
X5237A /V	18 GB	16	1305.00	20880.00
X1034A	QFE Card	4	/1274.00	5096.00
Z7004A 🗸	256MB (2x128MB DIMM	16	/1700.00	23664:00
Sun Silver V	Sun Silver 420R with Uplifts	2	2695.68	5391.36
				· ,
	Chinalan			
	Shipping Subtotal:		<del> </del>	<del> </del>
	Tax:	<del></del>	<del>                                     </del>	
	TOTAL DUE		<del> </del>	177013.32

Magyor?